Improving performance using scipy.sparse

trééble.datasets

treeple.ensemble

Note that this only works in the special case of treeple.stats
binary classification or regression as <
scipy.sparse only supports 2d matrices.

This could be generalized using pydata.sparse
but currently that uses too much memory.

The next two slides show the CPU and Memory
profiling analysis of the script to the right.

The profilers seem to indicate that using
scipy.sparse cuts runtime by more than half and
uses 7% less memory.
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Memory Profiling using memray

runpy.run_module(args.script, run_name="__main__", alter_sys=True)
observed_diff, , , pvalue, mix_diff = build_coleman_forest{
est, orig_foresi_proba = buil... metric_star, metric_star_pi = _compute_null_distribution_colemani perm_est, perm_forest_proba ..
estfit(X, y.ravel(),... all_pr... out= Parallel(n_jobs=n_jobs)( fori, seed in zip(ra... all y pred =np.... estfit(X, y.ravel(), **e... all pr.
return fit_method... a=e... retumn output if self.return_generator else list(.. return fit method(est... a=e...
super().fit(X, y, sa. res = func(*args, **kwargs) self = super().fit(X, y.... D e n S e
return fit_method... se... y pred se... firs... second_for.. return fit method(est...
e Total for benchmarkin ipt: ~129MB
trees = Parallel( re... X ... return fit_ method(est... g S C rl p .
return output if ... wit... am... self._consiruct trees( .
Total for build_coleman_forest: ~24.2MB
tree._fit( ret.. return output if seff.r... " -
self.estimat... ret... res = func(*args, **k... - -
self = self._.. (ar... tree._fit(
builder.buil. self.estimator,
self = self_buil...
builder.build(sel...
<root>
runpy.run_module(args.script, run_name="__main__", alter_sys=True)
cbserved diff, , , pvalue, mix_diff = build_coleman_forest(
est, orig_forest proba = build_oob. perm_est, perm_forest proba = build oo... _compute null_distribution_coleman_sparse( S pars e
esthit(X, y.ravel(), *"est_kwargs) estit(X, yravel(), *“est_kwargs) out = Parallel(n_job. for _, seed in zip(range(n_repe. .. all.
return fit_method(estimator, *a. return fit method(estimator, *args, *... return output if self.. Total fo r b e n C h m arki n S C ri t- —~ 1 2 O 1 M B
super().fit(X, y, sample_weigh... self = super().fit(X, y, sample_weigh. res = func(*args, *. g p ] L]
return fit_method(estimator, *. return fit_method(estimator, "args, ™. first_h... second. -
self._construct_trees( super().fit(X, y, sample_weight=sa.. HYX... H.YX.. Total fo r b u I I d CO I e m an fo reSt " o~ 15 2 M B
trees = Parallel( return fit_method(estimator, *args, *. elsele... x=_br... J— —_— - "
return output if self.return_ge... self._construct_trees( return ... arrays ...
res = func(*args, **kwargs) trees = Parallel( return ...
tree._fit( return output if self.return_generato.. return ..
self.estimator_._fit( res = func(*args, **kwargs) return ...
self = self._build_tree( tree._fit( (array,..
builder.build(self.iree... self estimator___fit(

self = self._build_tree(
builder.build(self.tree_, X, y,...



	Slide 1
	Slide 2
	Slide 3

